BALLARD DESIGNS.

VENDOME DOUBLE PEDESTAL TABLE
TTTTT
""""""""""""""

DDDDDDDDDDDDDDDDDDDDDD
OOOOOOOOOOOOOOOOO

AAAAAAAAAAA




No Hardware Qty No Parts Qy
E N Iron Plate 2

F | |  Sorew 5/16*1-3/4 8 A | &Zzy TableTop | 1PC
G | O FlatWasher5/16*19mm | 8 B | L7  Leaf 1PC
H ® Lock Washer 5/16*14mm| 8 c é’, \{ Leg PSS
I L Allen Wrench M5 1 d-4

J | =  Screw 1/4*3/4 8 P X Crossbar 1PC
K © Flat Washer 1/4*16mm 8

L ® Lock Washer 1/4*11mm 8

M ¢ Allen Wrench M4 1

Hardware pack here

Note: Two or more people are recommended to assemble this unit.

Page 2 of 5 MADE IN CHINA




Step 1. Place the tabletop (A) upside down as shown (be sure to place on smooth
clean surface to avoid scratching).

Step 2. Turn legs (C) so bottom faces up. Join legs (C) and crossbar
(D) together through dowels.

Step 3. Attach iron plate (E) into the cut out groove on the bottom of the
legs (C) and crossbar (D). Pilot holes are pre-drilled. Secure the
iron plates using flat washers (K), lock washers (L) and screws
(J) as shown. Turn the screws clockwise to tighten.

Page 3 of 5 MADE IN CHINA




Page 4 of 5

Step 4. Turn the legs upside down and place them on top of the upside down table top
as shown, aligning the pre drilled holes on the legs with the predrilled holes in
the table. Secure the legs to the table using screws (F), lock washers (H), and
flat washers (G) with the allen wrench (1) as shown.

MADE IN CHINA




Step 5. When needed, the leaf (B) can be inserted or removed by aligning the leaf
with the predrilled holes and dowels on the table top.

Step 6. If the unit needs leveling, adjust the levelers on the bottom of the legs, turning
as needed for alignment.

Page 5 of 5 MADE IN CHINA




